Berdkna, om gransvirdet existerar:

i sin(x?2 — 2x + y? + 1)
m
(xy)—=(1,0) X2 —2x+y2+1
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' sin(x? — 2x + y? + 1)
im
(xy)—=(1,0) x2—2x+4+y2+1
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' sin(x? — 2x + y? + 1)
im
(xy)—=(1,0) x2—2x+4+y2+1

=/x=1+t/
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im sin(x? — 2x + y? + 1)
(y)—(10) X2 —2x+y2+1

- sin((L+ )2 —2(1+t)+y?+1)
(ty)=00) (1+t)2—2(1+1t)+y2+1

=/x=1+t/=
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im sin(x? — 2x + y? + 1)
(y)—(10) X2 —2x+y2+1
- sin((L+ )2 —2(1+t)+y?+1)
(ty)=00) (1+t)2—2(1+1t)+y2+1
- sin(t? + y2)
(ty)=(00)  t% +y?

=/x=1+t/=
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im sin(x? — 2x + y? + 1)
(y)—(10) X2 —2x+y2+1

- sin((L+ )2 —2(1+t)+y?+1)
(ty)=00) (1+t)2—2(1+1t)+y2+1

- sin(t? + y2)
(ty)=(00)  t% +y?

=/x=1+t/=
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im sin(x? — 2x + y? + 1)
(y)—(10) X2 —2x+y2+1

- sin((L+ )2 —2(1+t)+y?+1)
(ty)=00) (1+t)2—2(1+1t)+y2+1

- sin(t? + y2)
(ty)=(00)  t% +y?

=/x=1+t/=

Ovan anvinde vi att t> + y? — 0 da (t,y) — (0,0), samt att
sins/s —1dds—0meds=t>+y2
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